HENEREREHES

Mt

SHS5FE9H7H (K)

$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 238 T 1,335.6 311 33
THI 4,154.3 51 22
JUFHLA 244.7 931 20
LSHLA 876.3 596 20
TFELSHLA 121.7 1,272 300
=EHLA 1,132.3 350 20
IALA 214.1 759 200
<aHLA 24.1 1,029 101
HSRFLA 95.0 69 20
ELon 222.6 159 21
<95 56.6 100 20
FARLY 1,496.7 2,170 105
TYUAVTAFA 99.5 211 20
F7> 07 1,129.4 270 20
HFHS 444.6 150 20
TLINTN 55.7 119 23
ALY 91.7 5,252 219
Vo INY = 31.5| 20,500 8,300 | 1
e R 29.2 100 20
R 22.8 1,311 39
AL+ 56.6 250 20
RG] 614.3 1,300 20

7,059.4




[f¥fa] (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SE  23& sH= 57.6 2,220 100
N rers #=: 13¢/s
TH—5E 58.5 11,200 1,000 |G >
TYRSERE 58.6 450 50
2S5+ R\ 196.6 529 229
ZILAA ST 2,810.5 700 250
ZILAA F5E 660.0 4,689 2,400 ﬁ 132¢/s
1 c/s
TUAH 8,559.2 735 27
e 24— 23C/S
7o 58 115.0 2,170 1,650 [ o
=X4 T 22.6 1,119 319
T+E47 2,106.6 850 30
FE+<3 39.6 600 100

WAERA ATtNE

21,744.2




€:E3::) (BT : kg )
SRR AfEE ® 2 5 1B Z B fm &
BERXFE 148 |77 34.0 711 119
_~ 52.4 555 450
>O0F 36.0 469 139
N 37.8 1,212 265
=>0OX/)VUl 48.2 2,240 1,490
AP 24.3 1,559 1,456
2R+ 170.1 1,729 1,159
SFOA 76.9 4,433 1,300
NC 18& ESWYXHZ 24.6 619 300
HY= 60.7 1,279 501
EXTYRS 102.9 303 273
NN AEtEE 667.9




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
EEXFE 148 |RZF 19.9 1,800 1,300
h 18% <43 163.4 1,500 700
aitaE 183.3




